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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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P3-4

BfE) | GEBERTIC (7)) | EBRE (EA/#K) | EREE (B/R) | X8 EFE

07:50 268 150.0 2.583 5| FHAQO7:50 KENFEF (GRAfEEEE)
08:50 268 150.0 2.583 5| FMHA@08:50 KENFZEF (RA{ERELER)
09:45 268 150.0 2.583 5| FEAe09:45 KEIEFE (CRAMEEE)
10:50 268 150. 0 2.583 E(  FiHAe10:50 KREFEF CGRAERE)
11:45 268 150.0 2.583 & FiHfet11:45 KRHEIEF (CREERS)
12:40 268 150.0 2. 583 5 FEAe12:40 KEIEFE CGRAFESE)
13:35 268 150. 0 2.583 F|  FiHAe13:35 KREFEF (GRAEREEE
14:30 268 150.0 2.583 | FHAe14:30 KHEF (RKAEESE)
15:35 268 150.0 2. 583 5| FEAe15:35 KEIEFE CGRAMFESE)
2it] 2412.0 (9%) 1350.0 3203 %EC: 2080.0, PH: 6.0

#HEKRECE (1907.0 vs 4607.0) 35
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P3-4

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e
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2it]1365.0 (5%) 750.0 32 KEC: 2080.0, PH: 6.0
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P3-4

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

06:45 278 150.0 2.583 FA| 1B2i%@06:45 B3zh (KBRS
07:45 278 150. 0 2.583 FA| 1BRi%@07:45 B3zh (RAEREEE)
08:45 278 150.0 2.583 FA| {Ri%@08:45 Bz (RAMEEEE)
09:45 278 150. 0 2.583 FA| 1BRi%@09:45 Bzh (kAR
11:00 278 150.0 2.583 FA| 1BRi%@11:00 B3h (RABERESE)
13:35 278 150.0 2.583 | K/| {Ri&e13:35 Bz (REEHSE)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

[E;&EC 5503.0 K5, EiNF{KECAE&M%ER
#[EKECE (2087.0 vs 5503.0) 15
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P3-4_0, Day=63 (2025-05-31)
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Warning: lcol ['FVI’,

"FVO' ] missing
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Warning: lcol ['WC1’,

"WC2' ] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing

setECB=2080. 0

optPHO0=6. 5,

Warning: lcol ['PHB’,| 'PHC’'] missing

setPHB=6. 0
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Bylnit] @65 01:48: ET=1474 Fg=1950.0 Ro=390.0
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P3-4

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

06:35 278 150.0 2.583 BH| 1Bi%@06:35 Bzh (RAERE)
07:30 278 150.0 2.583 FA| 1BRi%@07:30 B3zh (KAIEREEE)
08:25 278 150.0 2.583 FH| 1Bi&@08:25 Bzl (RAEREIEE)
09:20 278 150.0 2.583 FA| 1B2i%@09:20 B3h (KAB{EREE)
10:35 278 150.0 2.583 FA| 1BRi%@10:35 B3h (RAERSE)
11:30 278 150.0 2.583 FA| {Ri%@11:30 Bz (GRAERE)
12:20 278 150.0 2.583 FA| 1BRi%@12:20 B3h (RAB{ERSE)
13:10 278 150.0 2.583 FE| 1BRi&@13:10 Bzh (GRAEREE)
14:05 278 150.0 2.583 FA| {Ri%@14:05 Bz (GRAEREE)
15:30 278 150.0 2.583 FA| 1B2i%@15:30 B3h (RkA{ERSE)
17:15 278 150.0 2.583 FA| 1BRig@17:15 Bzh (RABERSE)
23t+]3058.0 (117%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

[BI;&EC 5717.0 K&, EiFA{RECAE& itk E R
#HEKRECE (2220.0 vs 5717.0) 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=62 (2025-05-30)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing

400

200

07 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

]
Bylnit; @65 01:48: ET=2098 Fg=2700.0 Ro=568.0

- 4000
7
- 3000

- 2000

cumET (ml/plant)

- 1000

2000

400

200

— — ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
2| %s| B i i 5 5 i i 5 G A B 5 5 A B B B G B B B G

ByEt @62 16:08: ET=1578 Fg=1683. 0 Ro=nan

- 3000

- 2000

- 1000

cumET (ml/plant)

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

2000

400

200

55| %=(%=| BB | BB | B8 | BA | BH | BH | BH | BH [ BA [ BA [ BA [ BA | BA | BA | B8 | BB | BB | = | =[S KA

]
ByWoFv! @D65 01:48: ET=1348 Fg=1650.0 Ro=225.0

*—0—0

- 3000

- 2000

- 1000

cumET (ml/plant)

0.8

0.6

0.4+

0.2~

55| %=(%=| BB | B | B8 | BA | BH | BH | BH | BH [ BA [ BA [ BA [ BA | BA | BB | B8 | BB | BB |B=|E= (5= KA

0.0

1000 [ ] | _obs

500 -

—@— PPFD obs

80 A

60

40 -

2: °1 ’% ® VP

—— RH
o RH_obs
RHo_obs




19.

18.

18.

18.

18.

19.

19.

19.

19.

19.

19.

19.

T T T T
600 700 800 900

m=605,m FV0=0

T
500

T o

M_E

i

6%0 6%5
m=770,m FV0=0

40

35 -

30 A

25 A

20 -

15

10 ~

770 775 780

52

50 A

48 -

46 -

—0—

MW

700 800 900

m

500 600

m=465, FV0=0

17.9 A

17.8 A

17.7 4

17.6 -

17.95 4

17.4 4

19.

19.

19.

18.

18.

18.

18.

19.

19.

19.

19.

19.

19.

19.

M_E

4%0 4%5
m=655,n FV0=0

10

05 ~

00 -

95 A

90 -

85

80

GéO 6é5
m=810,n FV0=0

50 A

45 -

40 A

35 A

30 -

25 A

20 -

8{5 8é0
m=465,n FV0=0

810

49 -

48 -

47 -

46 -

-o— MW

B
e

465 470 475

18.

18.

18.

18.

18.

19.

19.

19.

18.

18.

19.

19.

19.

19.

19.

19.

19.

51

51

50

50

49

49

m=500, FV0=0

M_E

565 5%0
m=700,n FV0=0

765 7%0
m=850,n FV0=0

50 A

45 -

40 ~

35 A

30 -

25 A

20 -

850

865 860
m=500,n FV0=0

.9

.0+

.91

.0

.51

.0+

——

M_W

500

505 510

18.

18.

18.

18.

18.

18.

18.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

52.

52.

51.

51.

50.

m=535, FV0=0

90

85

80 -

75 1

70 -

65

60 -

M_E

5&0 5&5
m=735,n FV0=0

30

25 A

20 -

15 1

10 4

05 A

00 -

7&0 7&5
m=920,n FV0=0

9é5 950
m=535,n FV0=0

920

- MW

535 540 545




52.

51.

51.

50.

50.

52.

52.

51.

51.

50.

m=605, FV0=0

—o—

M_w

T
605

61I0
m=770,n FV0=0

T
615

—o—

M_W

T
770

T
775

780

52.

52.

51.

51.

50.

50.

52.

52.

51.

51.

50.

m=635, FV0=0

—O—

M_w

T
655

6(;‘0
m=810,m FV0=0

T
665

——

M_W

T
810

T
815

820

52.

51.

51.

50.

50.

53.

52.

52.

51.

51.

m=700, FV0=0

—— MW

T
700

7(I)5
m=850,n FV0=0

T
710

—— MW

T
850

855

860

52.

52.

51.

51.

50.

50.

53.

52.

52.

51.

51.

50.

m=735, FV0=0

—0—

M_W

T
735

740
m=920,n FV0=0

T
745

——

M_W

T
920

T
925

930




hour

100

80

- 60

- 40

§_

%

%

e
6\
%
7N
e
-
%,

o

1 R
X Q

))\% _ -§\$'§ ;
< qi\'

2
>
L

&

£

%,
&

At ’@(26_.?
%

%

%



P3-4

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

07:15 273 150.0 2.583 = {RRiB007:15 Bz (REAEESE)
07:55 273 150. 0 2.583 E  1BRi&e07:55 Bzl (GRAERE)
08:35 273 150.0 2.583 5| {Ri%@08:35 Bz (FAAMERSE)
09:15 273 150.0 2.583 | =| {Ri%e09:15 Bzl (REZHE)
10:05 273 150.0 2.583 (Z=| {Ri%@10:05 Bz (RAERSE)
10:50 273 150. 0 2.583 |Z=| {Ri&e10:50 Bz (REAEZERE)
11:40 273 150.0 2.583 (Z=| 1Rige11:40 B3 (RAERSE)
12:30 273 150.0 2.583 (Z=| 1Ri%@12:30 Bz (REAERSE)
13:15 273 150. 0 2.583 E| {Rige13:15 Bzh (RE{ERSE)
13:55 273 150.0 2.583 5| 1RiR@13:55 B3 (KREAERESE)
14:30 273 150.0 2.583 = RRiB014:30 B (REAKEE)
15:15 273 150. 0 2.583 E BRige15:15 Bz CGRAERESE)
16:05 273 150.0 2.583 (Z=| {Ri%e16:05 Bz (FAMEHSE)
17:25 273 150.0 2.583 FH| 1Rige17:25 Bzh (GRAEESE)
21t 3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

[E;&EC 5690.0 K5, EiNF{KECAE&M%ER
#[EKRECE (2323.0 vs 5690.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=61 (2025-05-29)
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